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However, - S9YD IRTYT WS K2 YT KT NN
regarding this which Rovo queried; is there a warning, etc.

OVERVIEW

XD 27 established the (73wn and ¥n*>72) of 771717 VI 292 by a case of 7YX MY,
and the np1omn there between 11271 X" was whether 71785 aR7vn v (the view of
X"97) or MMIXY aRTYA PR (the view of the 7327). The X3 continues with what
seems to be a question on X27; why did 827 query whether Mm% AX7Y7 W or not;
when it is a NPY71M between 71271 X", Our N1©0IN clarifies the intent of the Xna.

mMooIn anticipates a difficulty:
= DYYUN 19NN SPATN NNIAN YT NN XD N7 2) DY 9N

And even though X239 did not know of the Xn*92 (and our interpretation of it),

since X271 queried whether MM17X 1" is 122 @YWR or 79w 11, and if X271 knew of this
Xn*92, he should have known that o%wn 19n. The question is what is the X3 asking on X219
(that he should not have posed this query since the Xn>72 resolves it), when X237 obviously did
not know of this Xn»72?!

mooIn responds:
- 11775191 N VIVOIT KIN) 797 0PN Yon

Nonetheless, the X923 wants to infer from this Xn»972 that we can resolve both
queries of X211 (regarding whether he is 192 0%wn and whether MxY AX7Y7 W) -

NP ND) A NY 139 DIV KY PN
But the X773 rejected this notion and concluded that we cannot resolve from this
Xn» 72 neither this query of 12131, not this query of 7X7Y7.

SUMMARY
The X723 only intended the resolve the queries (but not to ask on X27)

THINKING IT OVER

Seemingly MooIN intent is to explain that the X773 did not ask on X279, but rather the
X3 meant that we can resolve the queries. Why was it necessary for n190I1n to
conclude 'Ri7 8?1 X7 R? 717 01ws1 82 17'? What does that add?!

' When the X m stated, X237 °¥27 X7 KOK; the X713 did not mean to ask a question on X237, but rather the X713 meant
that now that we have this interpretation of the &n>72, we can resolve both queries of ¥27.
* See ‘Thinking it over’.
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